RERE-AIVITRERRISOVTHEER A

D4/5EB WEttEES D L
15
100Bq/kgZ B2 53 DO
BREHRE
No 5T REE HEniESE + 5 L-134 S L-137 REE
Ba kg Ba. kg Bg kg
1 N /N ) R5.4.6 4K BmEE3(<6.1) BRHEE3(<7.6) BREET

BRBEECIBTA2—REBEROREEE 9L 100Bg/kg(t>HL-134, 22 H L-13TDEE(E)




RERE-AIVITRERRISOVTHEER A

@4/6LE5 REEEY S L
8@t
100Bq/kgZ B2 53 DO
BREHE
No BRT REH AEDIELE +S 9 L-134 t ) L-137 AEE
Bqg. kg Bqg. kg Bqg. kg
1 ZBLUTH R5.4.6 =SS! BREET(<I) BREET(<8.4) BHEEY
2 ZLth R5.4.6 =Sy BRHET(<L7.9) BRHET(<L7.6) BEed
3 E )t R5.4.6 =SS! BRHEEY(<8.7) BRHEE(<7.9) BrREed
4 @A R5.4.6 =Sy BRHET(<L7.2) BRHE9(<85) BEed
5 At R5.4.6 =SS! BREE9(L BRHEE9(<8.6) BrREed
6 ZLth R5.4.6 =Sy BRHE(<9.6) BRHE9(<8.3) BEed
7 At R5.4.6 4R BREE9(<74) R E97(<6.6) BrREed
8 Zuth R5.4.6 =SS! BRHE(<9.0) BRHET(<L75) BRHEET

BREEEIZBT2—BEROEEE £ L:100Ba/kg(EH L-134, £ L-13TDOESEE)




RERE-AIVITRERRISOVTHEER A

B4/1LE5 REEEY S L
1055
100Bq/kgZ B2 53 DO
BREHE

No BRT REH HEniEsE +S 9 L-134 t ) L-137 AEE

Ba kg Ba. kg Bg kg
1 iy =g:i) R5.4.7 4K BRHEET(L7.7) BRHEE9(<85) BREET
2 ISHT R5.4.7 =SS! BRHET(<10) BRHE9(<6.9) BEed
3 EMEEm R5.4.7 =SS! BRHEEY(<L7.6) BRHEE(<L7.8) BrREed
4 HE™T R5.4.7 =SS! BRHE(<8.8) BRHET(<L7.6) BEed
5 At R5.4.7 =SS! BREE9(<7.5) BREEI(<T) BrREed
6 XEH R5.4.7 =SS! BRHE(<9.0) BRHET(<L75) BEed
7 FEH R5.4.7 4R BREE9(<8.2) BRHEE9(<6.7) BrREed
8 HE™T R5.4.7 =Sy BRHET(<L7.2) BRHET(<7.2) BRHEET
9 XEHR R5.4.7 4R BRHEEY(<L7.6) BRHEET(<74) BREed
10 E%AmH R5.4.7 =Sy BRHET(<9.1) BRHET(L7.7) BRHEET

BREEEIZBT2—BEROEEE £ L:100Ba/kg(EH L-134, £ L-13TDOESEE)




